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(Thel: =3) 3Q ‘22 (HEHIF ) 2Q ‘22 (HEHE ) 3Q ‘21
ol = 24 76.78 100.0% 77.20 100.0% 73.98
O =2 7t 48.07 62.6% 46.27 59.9% 42.90
oi=Z01Y 28.71 37.4% 30.93 40.1% 31.08
ThHat| 17.86 23.3% 16.84 21.8% 15.26
- AR 6.27 8.2% 6.25 8.1% 5.11
SHo[Y 10.85 14.1% 14.10 18.3% 15.82
7|EtE Y el=2l/H[E 0.03 - A0.14 - 0.10
X289 0.31 - 0.26 - 0.27
astd 0.66 - 0.24 - 0.17
HOIM| X ZE X 0] 11.86 15.4% 14.46 18.7% 16.36
HeIMH[E 2.47 - 3.36 - 4.06
=0]2 9.39 12.2% 11.10 14.4% 12.29
X|HZ71 Y &27FX|& =0 9.14 11.9% 10.95 14.2% 12.06
7|2 F=0]Y (# 1.346 1,613 1.776
T8 Fod I H
3Q ‘22 2Q ‘22 3Q ‘21 3Q'21 2Q'22 3Q'22
ROE 12% 14% 17% B—
D= =0|AE (=0/Y/0i=) 0.12 0.14 0.17 32% 30'% —
SR 3| S (O1Z/5RHY 0.68 0.71 0.75 26%
T2 Ble2l x| (EAHAY/ SR 1.38 1.38 138 17% 14% 125%
EBITDA O}% 26% 30% 32% )
ROE  =®=EBITDA Margin



A RS = 3 Q0|2
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EERES) 3Q ‘22 2Q ‘22 3Q ‘21 QoQ YoY
= Y 76.78 77.20 73.98 1% | 4% 1
DX &2 47.26 44.46 42.81 6% 1t 10% 1t
VD /7™ & 14.75 14.83 14.10 1% | 5% 1
-VD 7.86 7.54 7.82 1% 1 1% 1
MX / HES3A 32.21 29.34 28.42 10% 1t 13% 1
- MX 30.92 28.00 27.34 10% 1 13% 1t
DS 2 23.02 28.50 26.74 19% | 14% |
-2 15.23 21.08 20.83 28% | 27% |
SDC 9.39 7.71 8.86 22% 1 6% t
Harman 3.63 2.98 2.40 22% 1 51% 1
OEIO-IO|OI
(Er9l: = 2) 3Q ‘22 2Q ‘22 3Q ‘21 QoQ YoY
= Y 10.85 14.10 15.82 A3.25 A4.97
DX &2 3.53 3.02 4.15 0.51 A0.62
VD /7™ & 0.25 0.36 0.76 A0.11 A0.51
MX / HES3A 3.24 2.62 3.36 0.62 A0.12
DS £ & 5.12 9.98 10.07 A4.87 A4.95
SDC 1.98 1.06 1.49 0.92 0.49
Harman 0.31 0.10 0.15 0.21 0.16
% 2 AT OHS 2 GQI0|22 20214 128 ZANH 7|F02 RME O, REY 1SS B2 | 1SS EetDn US
AXYE KB

¥ DX 22 EAAF 24 U] W ofsf M ARoAM HEE 7= MRS

% Harman2| 0§Z 2 @ @09

X DX: Device eXperience, MX: Mobile eXperience, DS: Device Solutions
olo

HITUX A AEE 7|E22 HEEYen, Qe 2HE H| &0



NEEEKIPESER-oR b

DS

[327]]
O 22 : 32 2SN X2 7HeE| T A g DA X

.|
A Ot ME| U AR HER 42 S| NSO 2 Bit 8
|

710|HA Sl Bl AX ZhA

- DRAM : &A HMEte| =9 E3tA| Mot & F2|5t X7} Zof XY Sot
FoAM S Tof 7| |X|. C, 0|0 WE H +=F Tt

- NAND : 2H/AH OEMY 18T XNE H|F =0 27, T DA
Mo =d 8 BHY S Set Build =82 M Z Bit 4% o}

[0 S.LSI: 2HIY/TV & =8 =3t
O TeCa : NEBY 48 4N U HSDF Fe G2 4 7|0 Uz

olCH A|CH 27| AN 2y
[427]]
O W22 DA JoAY Yok K& MY & 12 HE SA 40 M3

- ==
[§-25t0] DRAM/NAND B3| A% M3|ets 27| S3t2t =7
CH QI7} A2 1243t HE oA 2 E31 DRAM =2 =t
- DRAM : 64GB 0|} 182 3l 2HHet PDDRS +8 XS TS

- NAND : 28&5/0 8 HE 2 S & 714 Bty _,_31@ ApAQ &=
O S.LSI: 2HHY DA HHMZF ZA0 W2t SoC OiE 7t oY &,
2B A MIA EhOf =HCy F=F
O o2 H S8X 2 Axs 7124, HHSE HF = &
WA A3 52 S8 AR MM RIS 7]
[ 23 ]

0 0122 : A7 CPU %L Al BHE K8 7t SO2 Mui/2Ht S sfut|
+8 312 J|of. B, )32 27| 12 +0 g4 K% 20l Ta
CEHY B7+S @7 Furo] MAF R} NRst 57| ARSI 1A E B3
% %7 % DDRSS Al IE{HOIA X 18 42 F7H fS
LS| SoC AR R Sof 22 2l2 U SN HE A4 308
tecel: MELE )% 2|0y OIS Z3HED, Auto/loT S
AR FER-E WL E N RO

Fo

E »

|'-|0

]
O o)
X

[3&87]]

O032d . E0E 23 S04 AQGEE MAE 2A|0| 2 =8 7t &,
7|lsXtdst2 oot 2 1M MMER HaeE T2
HME7|/MA A Y7t

OO ¥:3F2IT H2ME QD-OLED 2L E ZA| & & =8 74Md 2
mof 2k SOt 27, MM TV/2UE AR A 8 X7] EXH|
oz NIt X|H

[ 427] ]

0329 AZN 47| 8+, AFEl/DS7F X150 ME AH[AE|

FoR ADLER/T AIF o8| HEHE 4% HYE/LL
SEN Z2|0/Y OLED 3R Y82 S8 SHO|AE A

= O —

S22 M R& =

O ¥:48=7 S X 02 =H2 QD-OLED =it T8

[ 234 ]

082 stojdle S +2 =) MY T 7|1&/B2/+8 &
G A otE AYs HE2R Za2|0g ADEE &
IT/ Game/ Auto & A7t 88X Toj o =

Ot o:/E 2elg st / 85 /i 22 QD-OLED THof Shrj
=48 Hd F



=]
K

OF

oK
Rl
<0

Bl
I

A

TRt

=

s}

VvD / 7}

: A%, Seasonality @822 ME7[H| =8

[3=27]]
O vD

/SAIE[= BLSloB=

I
=

 MX/HEH3A |

[3&7]1]

my

e

A,

or
0
ar

Jod
KA

N

(S IPN =S
44 5l O|= Comcast AR &2 &

Of
1o

80
OH

ofl

T
tjo

L

100

ol

VS
~

q

A
=

=<
g s

1 QI AF

OHESR:

ar

FX

oLt M=H|, =7 FH

SH
PON

NI

al
=

O 7+

4r

LHo
Tofll
K-
&

<d

[HE S Ty 7=

X0

=1
s

A

7124 BF/.

7t Ol &=L, D22 2|23

=
o

HE27| CHH| =2

[427] ]
1 VD

DA, AHAEH 2l
Seasonality JE O 2 ME7|H| ADLEE/ 9J|0{2

[427] ]
[ MX

r
KF

xd

X

70

&

—_

jol

1

i

2Hel ®e

oi
M

Kt

i
Klo

=
=H|

A
=

- A3k M4=7| BESPOKE &4 Z2|0O|

O 7+

28 & ON & SH HEEL

Ab
o

10% O|

=

=

A0

[ 23]
O MX
9

4r

a4

afl]
H|

L M &

m]
=x

Mix 7§22 of

2f0| = AfO|

I
=

A

4r

M22 08 Z MSotH 2(Hy A2

X|£3l 10 BESPOKE 22!

3
2

o

T2 SiAAY =0 7| tSoto] tiE SEM =Xl

t

—

, SmartThings 7|8 ZE| C|H}O|A
1o

3

o
—

Eco Device

CcC
-

(]
Ko

0
Al

Jod

o

ofr
il

i

ol
=

OUESIR:

, VRAN(Z}



(THel - A )
T = 229 32| '22'd 227|% 2149 327|%

4,702,784 4,480,407 4,104,207

-Ha X 1,288,199 1,253,523 1,204,701
-HEMA 474,218 440,262 423,697
- L RHAE 573,198 520,922 378,017
- EXERHA 275,765 275,921 257,076
- SE XA 1,603,436 1,542,546 1,430,294
- R 214,849 200,969 207,536
- 7|EFXHAL 273,119 246,264 202,886
NN | 4,702,784 4,480,407 4,104,207

g 1,253,715 1,201,340 1,136,546
- Xteig 124,620 174,390 190,696
- L2 152,522 125,607 138,657
- 0 X 23H& 467,540 409,029 381,748
= B 42,806 60,677 43,801
- Meh=3 21,249 20,338 21,636
- 7| EHEL XY 444,978 411,299 360,008
3,449,069 3,279,067 2,967,661

- XEF 8,975 8,975 8,975
St X2 4,702,784 4,480,407 4,104,207

rot
o
on

=, B gA2= /e s A

| 87I0ls &

224 38|

221 27|

‘219 3271

294%

283%

260%

36%

37%

38%

4%

5%

6%

A34%

A33%

A34%




o

o [ee] (@) O — V] LN <t ! o0 N~ N~
— || N o |wn || v o S | o=
=] ® | a o= M — M_ o | o
N — — ~— ~— — N
IH - < < o
(99]
ml
—
N
()] < o N~ o LN O O ! — <t LN
0 A - Q N < ) = o N a2}
I8 = TS =93 198
~N (Y] — — — — o
IH - < < -
(o]
|
(o]
N
LN [e0] (e)) o (W] — o N~ ! LN M~ (V]
o0 ! ™M Q o ™M N ™~ < < o)
_ n [ee} o o o ol vo _.m M 138} 0
IH - < < -
(99]
m
(o]
N
o il o
" ol ol ol 9
* | | & | o |
| 0| Bl | Ko | B ur o | MO
| & | ® R T R S )
= od N | od <4 | ol ; A_m _.__A Bl nﬂ
of X0 =3 o K 0
wl_ s = ﬁ 70 ﬁ o ~ W
HIEN 0 K K =
_.Io A_. N _._._o _u _._._o = K =]
fofl ofl fofl
&1 3 ok
80 wh =3

=
=

tasRtt, 871 8710s

%l

<K

o

214 387|%

101.40

221 28|

107.91

224 38|

116.36

IH

ro
fra
<H

7 8710ls

N
(=]



